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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forG3-1_0
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G3-1

BrE) | GEBAKE) | ERE(EH/AR) | EREE (F/R) [ XS R

06:00 145 80.0 1.728 F|  FiHAe06:00 KREFEF (RF{EREIEE
07:00 145 80.0 1.728 5| FHERe07:00 KENFEF (RAEES)
08:00 145 80.0 1.728 5| FEAQ08:00 KENFEFE (RAfEEE)
09:00 145 80.0 1.728 5| FHA@09:00 RENFEF (RAFEEEE)
10:00 145 80.0 1.728 5| THR@10:00 KRENFERF (RA1REED)
11:15 145 80.0 1.728 5| FHA@11:15 KENFEF CGRAMEREE)
12:25 145 80.0 1.728 5| FHAe12:25 KEIEFE CGRAFEESE)
13:35 145 80.0 1.728 5| FHA@13:35 KENFEF (CGRAMEEEE)
14:45 145 80.0 1.728 5| THfe14:45 KHMIEF (REMERER)
16:10 145 80.0 1.728 5| FEAe16:10 KEIEFE CGRAFEESE)
23t 1450.0 (100%) 800. 0 B GHKEC: 3000.0, PH: 6.4

unusual large postFgEt from yesterday (242), set to 240.0 ml.
REXEIPH (10.46) 5iEPH (6.3) REK K, FEE
REXEBIPH (10.46) 5FMPH (6.5) RERK, BHRE




FRV (ml plant-1)
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G3-1

BrE) | GEBAK (F) | EHRE(EH/AR) | EREE (G/R) [ XS R

06:30 143 80.0 1.728 E|  {Ri1%006:30 B3h (RE{ERSE)
07:20 143 80.0 1.728 = {Rig@07:20 B3 (RAERSE)
08:10 143 80.0 1.728 = {Ri%@08:10 B (RFAERSE)
09:25 143 80.0 1.728 | 1Ri%e09:25 Bz (KREAERSE)
10:35 143 80.0 1.728 | 1Ri%e10:35 B (KEAERSE)
11:35 143 80.0 1.728 = {Ri%e11:35 B (RFAERSE)
12:50 143 80.0 1.728 E| {Rige12:50 Bzh (GRE{ERSE)
13:40 143 80.0 1.728 =l {Rig013:40 B3 (RAERSE)
14:35 143 80.0 1.728 = RRiB014:35 B (RFAEESE)
15:30 143 80.0 1.728 F BRi&e15:30 Bz (GRAERESE)
16:25 143 80.0 1.728 El BRi&e16:25 Bz CGRAERESE)
23t 1573.0 (11%) 880.0 323 %KEC: 3000.0, PH: 6.3

LRGEB R R IZER 32N (300 vs 148.0))

BRIALPRIERE162.0 ml.

RERSEBIPH (10.5) 5i&EPH (6.4) REK K, HHRET
REXRJERIPH (10.5) 5FMPH (6.5 REK K, HFHRE
LRGEBIEC (2844.0) 51REIEY (2340.0) REK K, BHHRE.
LORGEBIPH (10.4) 5i&EE (6.3) RERKK, BRE.
ERGERPH (10.4) S5iRBIE (6.3) RERK, BRE.



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

G3-1_0, Day=25 (2025-06—06)
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m=395, FV0=0

1.0
2504 @ ME
0.8+
22.5 A
0.6 1
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Warning: col ['M_E'] missing
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22 20
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18 4 18 +
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14 1 14 1
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Warning: col "MW ] missing Warning: col "MW ] missing
0.0 T T T T 0-0 T T T T
0.0 0.2 0.4 0.6 0.8 1.0 0.0 0.2 0.4 0.6 0.8 1.

0

m=460, FV0=0 m=520, FV0=0
1.0 1.0
0.8 4 0.8 +
0.6 - 0.6 1
0.4+ 0.4+
0.2 ~ 0.2 A
Warning: col ['M_E'] missing Warning: col ['M_E'] missing
00 T T T T 00 T T T T
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760 765 770 845 850 855
m m=395,m FV0=0
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Warning: col "MW ] missing
16 T T T T 0-0 T T T T
600 700 800 900 1000 0.0 0.2 0.4 0.6 0.8 1.
m=580,m FV0=0 m=660, FVO0=0
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m=760, FV0=0
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G3-1

BFE) | GEBATK () | s (ERH/#F) | EREE (B/R) | X5 R

06:30 143 80.0 1.728 = {RRiB006:30 B (RFAEEE)
07:30 143 80.0 1.728 = {RRi8007:30 Bzh (RAEEE)
09:10 143 80.0 1.728 BA| {Ri%@09:10 HEI (RAMEEE)
10:20 143 80.0 1.728 FA| 1BRi%@10:20 B3h (KRAHEREE)
11:40 143 80.0 1.728 FE| 1Ri&e11:40 Bz (RFAERESE)
13:05 143 80.0 1.728 | =| {Ri%e13:05 B (REAERESE)
14:15 143 80.0 1.728 |Z=| 1BRige14:15 Bzh (REERSE)
16:00 143 80.0 1.728 | =| {Ri%e16:00 B (REAERESE)
2it] 1144.0 (8%) 640.0 3 HKEC: 3000.0, PH: 6.4

FEREERIPH (10.54) 5iGEPH (6.5) REK K, AT
FERERPH (10.54) 5FPH (6.5) {REKK, AT

LRGEBIEC (2863.0) S51REVEY (2340.0) REK K, BHHE.

EXEBPH (10.5) S5igEME (6.4) HERK, HARE.
EREBPH (10.5) S#EEER (6.4) RERK, FRE.




G3-1_0, Day=24 (2025-06-05)
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G3-1

BrE) | GEBAKE) | ERE(EH/R) | EREE (F/R) [ XK R

06:30 143 80.0 1.728 5| {Ri%@06:30 B3 (FAMERSE)
07:25 143 80.0 1.728 = {RRiB007:25 B (RFAKESE)
08:40 143 80.0 1.728 = {RRiB008:40 Bz (RAKEE)
09:55 143 80.0 1.728 5| {Ri%@09:55 B3 (FRFAERSE)
11:00 143 80.0 1.728 =l {Rige11:00 B3 (RAERSE)
12:00 143 80.0 1.728 =l RRiB012:00 B3 (REAKEE)
13:15 143 80.0 1.728 E| {Rige13:15 Bzh (REERSE)
14:20 143 80.0 1.728 E BRige14:20 Bz CGRAERESE)
15:15 143 80.0 1.728 =l Rige15:15 Bz (REAKESE)
16:10 143 80.0 1.728 E| {Rige16:10 Bzh (REERSE)
21t 1430.0 (100%) 800. 0 3 WHKEC: 3000.0, PH: 6.5

large discrepency for begining water status (105:261.0), set to 105 ml.
REXEBPH (10.81) 5iR7EPH (6.5) REK K, FEE
REXEBIPH (10.81) 5FPH (6.5) RERK, BHRE

LRGERIEC (2749.0) S5iRAIEY (2340.0) REK KX, BHRE.

ERGERRPH (10.5) 5ig&EE (6.5 REKK, HERE.
LRGERIPH (10.5) S#REIE (6.5) RWERK, BERE,




G3-1_0, Day=23 (2025-06-04)
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Warning: lcol ["WC1',  "WC2'] missing
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m=400, FV0=0 m=460, FV0=0 m=520, FV0=0

32 A
—o— ME 30 —o— ME —o— ME —o— ME
30. 0 1 30
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27.5 1 28 1
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25.0 26 - 28 7
22.5 - 26 26 1
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20. 0 24 4
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T T T T T T T T T T 22 L T T T
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G3-1

BYiE) | GEBIATIK () | EME (EH/&) | EBRERE (/X)) | KR R

07:10 145 80.0 1.728 = RRiB007:10 Bz (RFAEEE)
08:10 145 80.0 1.728 = {RRiB008:10 Bzh (RFAKEE)
09:30 145 80.0 1.728 5| {Ri%@09:30 Bz (FRAMERSE)
10:45 145 80.0 1.728 = {Rig010:45 B3 (RAERSE)
11:50 145 80.0 1.728 =] Ri%e11:50 B (RFA{EREE)
13:10 145 80.0 1.728 E| {Rige13:10 Bzh (GRE{ERSE)
14:20 145 80.0 1.728 5| 1RiRe@14:20 B35 (REAEESE)
15:25 145 80.0 1.728 =] Ri%e15:25 B (REAERSE)
23t]1160.0 (8%) 640.0 3203 KEC: 3000.0, PH: 6.5

EREBRIELL TR (0.65 vs 0.57)), AIREE ZIRREIEREEIRK

FRIAEPREBRE81. 0 ml.
large discrepency for begining water status (64:267.0), set to 64 ml.
REXEEBIPH (10.67) S5i&EPH (6.5) REKR A, HRE
REXJEBIPH (10.67) 5FMPH (6.5) RERK, FHRE
REREREC (2096.0) S5i&TEEC (2600.0) fRER K, BRE

LRGEBRIEC (2897.0) 51REVFEY (2340.0) REK K, BHE.

ERGEBPH (10.7) 51%EE (6.5 RERK, HRE.
ERGEEBPH (10.7) SR (6.5 WERK, HHEE.




G3-1_0, Day=22 (2025-06-03)
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Warning: lcol ["WC1',  "WC2'] missing
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m=420, FV0=0 m=475, FV0=0 m=545, FV0=0

32 1 —o— ME 30 - —o— ME 32 1 - ME —— ME
30 4 30 -
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28 -
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i 1 26 -
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22 ”s
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24
20 -
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m=675, FV0=0
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